Vectors

Example

Find the size of the angle between the planes x + 2y +z =0
and x +y -0

1
Their normal vectors are a=|2|and b=
1

Angle between Two Planes
0 = angle between the normals of the planes.

The angle between two planes is the angle between their
normal vectors.

Example

For what values of a do the planes with equations
x+2y-z=1 and ax -y +3z2=2

intersect at right angles?

, and we need n1.1, =0

1 a
Their normals are =( 2 ) and m= ( -1
1 3

Sowerequire 1l x a+2x (-1) + (-1) x 3=0

This gives a =5
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Xowtamy

2013 Q15 3 marks
2008 Q14 3 marks



